

St. Louis County, Minnesota



Date of Report: 4/30/2025 12:57:42 AM

			General De	etails				
Parcel ID:	141-0020-03	3400						
Document:	Abstract - 0	1455829						
Document Date:	10/17/2022							
		Le	gal Descripti	on Details				
Plat Name:	HIBBING							
Section		Township Range Lot						
25		57		20	-		-	
Description:	South 530	eet of East 600 f	eet of SE1/4 of S	E1/4.				
			Taxpayer D	etails				
Taxpayer Name	MAYRY JAC	СОВ Т						
and Address:	3715 HWY	5						
	HIBBING M	N 55746						
			Owner De	tails				
Owner Name	MAYRY JA	COB T						
		Pay	able 2025 Ta	x Summary				
	2025 - 1	Net Tax	x \$1,652.00					
	Special Assessme	ents		\$0.0	\$0.00			
	2025 -	Total Tax &	al Tax & Special Assessments \$1,652.00					
		Curren	t Tax Due (as	s of 4/29/202	5)			
Di	ue May 15	1	Due Octo		, 	Total Due	1	
	-		2025 - 2nd Half Tax \$826.00				<b>\$</b> 000.00	
2025 - 1st Half Tax \$826.00		00 2025 - 2	2025 - 2nd Half Tax 5			1st Half Tax Due	\$826.00	
2025 - 1st Half Tax	Paid \$0.	\$0.00 2025 - 2nd Half		x Paid \$0.00		2025 - 2nd Half Tax Due		
2025 - 1st Half Du	e \$826.	00 2025 - 2	2025 - 2nd Half Due \$82		26.00 2025 -	Total Due	\$1,652.00	
			Parcel De	tails				
Property Address:	3715 HWY	5, HIBBING MN						
School District:	701							
Tax Increment Distr	ict: -							
Property/Homestea	der: MAYRY, JA	СОВ Т						
		Assessme	nt Details (20	025 Payable 2	2026)			
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201 1-0	Owner Homestead	\$30,100	\$114,300	\$144,400	\$0	\$0	-	
	0.00% total) Total:	\$30,100	\$114,300	\$144,400	\$0	\$0	1108	
(100		<i>400,100</i>	ψ11 <del>4</del> ,000	ψιττ,του	ΨŬ	Ψ	1100	



St. Louis County, Minnesota



## Date of Report: 4/30/2025 12:57:42 AM

			Land D	etails						
Deeded Acres:	7.30									
Waterfront:	-									
Water Front Feet:	0.00									
Water Code & Desc:	W - DRILLED WE	LL								
Gas Code & Desc:	-									
Sewer Code & Desc:	S - ON-SITE SAN	IITARY SYSTE	M							
Lot Width:	0.00									
Lot Depth:	0.00									
The dimensions shown are r https://apps.stlouiscountymn	not guaranteed to be su .gov/webPlatsIframe/fr	urvey quality. A mPlatStatPopt	dditional lo Jp.aspx. If t	t information can be here are any quest	e found at tions, please email PropertyT	ax@stlouiscountymn.gov.				
Improvement 1 Details (HOUSE)										
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
HOUSE	1955	936	6	936	U Quality / 0 Ft <sup>2</sup>	RAM - RAMBL/RNCH				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	26 36 936		936	BASEME	INT				
CW	1	10	14	140	FOUNDA	ΓΙΟΝ				
Bath Count	Bedroom Cou	unt	Room (	Count	Fireplace Count	HVAC				
1.0 BATH	2 BEDROOM	IS	4 ROO	MS	0 C	&AIR_COND, PROPANE				
		Improvem	nent 2 De	tails (DG 26X2	26)					
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
GARAGE	1978	676		676		DETACHED				
Segment	Story	Width	Length		Foundat					
BAS	1	26	 26	676	FLOATING					
		-	-							
		-		ails (14X30 SH	•					
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	1975	420		525	-	-				
Segment	Story	Width	Length		Foundat					
BAS	1.2	14	30	420	FLOATING	SLAB				
		Improve	ment 4 D	Details (ST 7X8	3)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	56		56	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	0	7	8	56	POST ON GI	ROUND				
	Improvement 5 Details (LT 12X20)									
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
LEAN TO	0	240	)	240	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	0	12	20	240	POST ON GI					
Improvement 6 Details (LT 17X19+)										
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
LEAN TO		386		386	-	-				
Segment	Story	Width	Length		- Foundat	ion				
BAS	0	7	2 Serigun	63	POST ON G					
	-		-							
BAS 0 17 19 323 POST ON GROUND										







Date of Report: 4/30/2025 12:57:42 AM

		Improver	nent 7 Det	tails (S	Т 10Х24)					
Improvement Type Year Built		Main Flo	Main Floor Ft <sup>2</sup> Gross		ea Ft <sup>2</sup> E	Basement	ent Finish Style		Style Co	de & Desc.
STORAGE BUILDIN	G 0	24	0	240		-				-
Segmer	nt Story	y Width	Width Length		Area		Foundation			
BAS	0	10	24 2		240	POST ON G		ROUND		
		Improve	ment 8 De	etails (S	T 8X10)					
Improvement Type	Main Flo	Main Floor Ft <sup>2</sup> Gross Area I			Basement Finish Style Code & Desc					
STORAGE BUILDIN		80	)	80		-			-	
Segmer	-		Length		rea	_	Foundation			
BAS	0	8	10		80	Р	OST ON C	JROUN	ID	
			ment 9 De	•	-					
Improvement Type Year Built							ement Finish		Style Code & Desc.	
STORAGE BUILDIN			70		70					-
	Segment Story		Length Area			Foundation POST ON GROUND				
BAS	0	7	10		70	P		SROUN		
		-	nent 10 De	•	-	_				
Improvement Type Year Built LEAN TO 0				Gross Area Ft <sup>2</sup>		Basement Finish		5	Style Code & Desc.	
Segmer	-	21 v Width	٥ Length		rea	-	Founda	ation		-
BAS	0	y widin 12	18		216	P	POST ON GROUND			
5,10					-					
		Sales Reported			County Aud	itor				
	e Date /2022		Purchase					V Num		
		\$159,000 \$95,600				252017 178434				
07	/2007	Δ	ssessmen					170434	•	
	Class	7.0			<b>y</b>		Def	D	Def	
Year	Code (Legend)	Land EMV	Bld EM	lg V	Total EMV	L	Land EMV	В	ldg MV	Net Tax
Tear	201	\$34,400	\$127,		\$161,900		\$0		50	Capacity
2024 Payable 2025	Total	\$34,400	\$127,		\$161,900		\$0		50	1,299.00
	201	\$34,400	\$118,		\$152,500		\$0		50 50	1,200.00
2023 Payable 2024	Total						\$0 \$0		\$ <b>0</b>	1,290.00
										1,290.00
2022 Payable 2023	201 Total	\$29,300		\$84,400			\$0 <b>\$0</b>		50 50	- 867.00
	201	<b>\$29,300</b> \$32,500		\$84,400 \$1 \$80,600 \$1			<b>\$</b> 0		<b>5</b> 0	
2021 Payable 2022	Total		\$80,600		\$113,100 \$113,100				50 50	860.00
I	Total						<b>40</b>	•		
			Tax Detail							
Tax Year	Тах	Special Assessments	Total Ta Specia Assessm	al	Taxable Land		Taxable Building MV		Total Taxable MV	
2024	\$1,700.00	\$0.00	\$1,700.		\$29,096	\$99,889		9	\$128,985	
2023	\$1,272.00	\$0.00	\$1,272.	.00	\$22,340		\$64,353		\$	86,693
2022	\$1,314.00	\$0.00	\$1,314.	.00	\$24,724		\$61,315		\$86,039	







**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.